Chapter 2
Scanning with the LT 1850

Scanning
= Make sure connections are secure and the symbol you want to scan is
within the scanning range.(See LT 1850 Decode Zone on page 2-2.)

= Simply bring the scanner to the bar code. The scan beam is in a constant

blinking state, which becomes steady when the scanner is decoding a bar
code.

= The scan beam must cross every bar and space on the symbol.
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= When the scanner has read the symbol, you will hear a short high tone
beep, and the green decode LED wiill light.
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LT 1850 Product Reference Guide: Scanning with the LT 1850

LT 1850 Decode Zone

SCANNER NOSE
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7.5 mil (0" - 2.2")

13 mil (0"-5") (100% UPC/EAN)
0in 5in 1lin 15in 2in 25in 3in 35in  4in 45in 5in
ocm 127cm  254cm  38lcm  5.08cm  g35cm  7.62cm  8.89cm  1016cm  1143cm 1270 cm

DISTANCE FROM SCANNER

3in
7.62 cm
25in
|— 6.35cm
2in
|— 5.08cm
1.5in
[ 3.81cm
lin
[— 254cm
| 5in
1.27cm
| 0Oin
Ocm
.5in
1.27cm
1lin
2.54cm

| 15in
3.81lcm

2in
5.08 cm

| 25in
6.35cm

| 3in

7.62cm

ai3id 40 HLdIM

2-2




	Chapter 2 Scanning with the LT 1850
	Scanning
	LT 1850 Decode Zone


